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* VPC Router
- Cisco Router 2t= CHE JjEo| EXME HIZY = i, 48 £+ g3
- Router = Az 0 28 U7| WE0 sSingle point of hardware 7t =MSIX| AUZ
- vpCc = Z|28OZ Main route table = ERSID RJUCH Taple W Local route &
A5 AS
- Local route : VPC W subnet S0 o8l vec W EE HFE SHX|2E &=
Local routing O] U0 BHEO| routing 20| E4 &

StLEO| subnet Ot S SHE Route table & BHE7| {SHA|= custom route
table 2 =0 ST subnet Pt HESIH &

- Custom route table HE®F Local route 8 E{E

[
- Custom route table & '+ Subnet O] 28 QHUl EAMSHI| 2SHME Internet

Gateway (IGW) & Mot 0|2 custom route table O 2IF QIHUIO| CHSE Route &
=750 o
- Z8XE 0.0.0.0/0 2 1 next hop= IGW 2 TE Default routing H7
Lot Ze

- Subnet W MHASE public 1P & ERoHOF &
- 16w 22t OfL|2} NAT Gateway, VPC Peering, Egress Only Internet Gateway,

Network Interface, Instance (NAT Instance) = Next hop oz XN¥E 7ts

* Reserved Addresses in AWS VPC
Z} subnet OHCF O FE/O{QU= A 4 7HO| 1P
- Y &2 T SEAUAS
- 0§ 0] 10.0.1.0/24 & &R
- 10.0.1.0 : Network ID
- 10.0.1.1 : VPC Router & F2&, & Default Gateway IP

- 10.0.1.2 : DNS Server IP, Subnet O Q&= Instance 2| Dns 7|8

- 10.0.1.3 : OJzHof] A2
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- 10.0.1.255 : Broadcast ¥4, VPC = Broadcast & X|&S}X| Yooz
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Z2 Az Oﬂ —Jl\—_iltEl_l Subnet O” 6.}5HA'| _5|'|—|'9| EC2 7|' I:|'4\—9| Subnet 0|| Interface &

7H2| subnet O] Network interface & t Instance = =olH, 2 79| Subnet 2

AZ & 7E|-9L|- Ef% Network 9:!



- 2709| subnet 2 MZEO| Tt Routing table O] EX|SIX| o, SAE 27tsd
- Public subnet O Interface & StL} 51, Private subnet O] Interface & SfLt

= F server 7t web Service & M&E6l1 pPrivate subnet A vPN & S| on-

premise B AASt=E AL Jts

* Internet gateway (IGW)

- QIF QUi A7 @[t Gatweay

- EC2 7} Public IP & ZHX|Z QUG 2T Internet gateway 7t QICHH 2 QIEUl
sA0| E7ts

- 16w Q| #El= aws 7t EE

- Routing table O 0.0.0.0/0 (Destination) O CHSIO 1w & F7tsfjoF &

- 10.0.1.23 1P & 7t Ec2 7t 2IF QHU SHS & 8%, 1w E X M X0
7ITl Public IP 2 Source NAT (Network Address Translation) T QUEE Ljot

- Ol MA : source 10.0.1.23(Public IP 59.54.23.52) / Destination
8.8.8.8 == > IGW == > Source 59.54.23.52 / Destination 8.8.8.8

- 10.0.1.23 1P & 7I% Ec2 2 2F QHHUIOAM "HAl, 1ew E XY M rc2 7t 1
Q= Public IP 7|‘ Private IP Z Destination NAT (Network Address
Translation) |0 LHEE =02

- Ol MA : source 8.8.8.8 / Destination 59.54.23.52 == > IGW == >
Source 8.8.8.8 / Destination 10.0.1.23

* ypc Q9F
- vec OA o]0 Mdst 1p Y AVIE MEEZE = 8IS
X 22 vpc E MY = 9. 10.0.0.0/16 0] O|O] UYS

- Multiple CIDR 2 O|R0]
O

=
M, 10.0.1.0/24 OYS Bt = QYS

- vec O|AM FIIZ 1pPv4 Y (Secondary CIDR)E HHE = AUS
- Ipve CHY2 1700 FIIE2 W4 JtsstH Y2 Ats2z2 FolH



